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Quiz Chapter 7.1
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Date_________ Period______
Write the six reciprocal identities:
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Write the two quotient identities:
_______     =
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Write the three  Pythagorean Identities
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2.  What basic trigonometric identity would you use to simplify 
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[2]  ________
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3.  What basic trigonometric identity would you use to simplify 
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4.  What basic trigonometric identity would you use to verify that 
[image: image23.wmf]cotsin

xx

? 
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5.  If  
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[5]___________
6.  Express 
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 as a trigonometric function of an angle in Quadrant I. 

[6]__________
7.  Express 
[image: image32.wmf]23

sin

3

p
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[7]_________
8.  Simplify 
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